Maths SEN answers – Monday 13th July
Practice Sheet Mild
1. 52 – 10 = 42  Counting back
2. 74 – 48 = 26  Counting up
3. 67 – 11 = 56  Counting back
4. 91 -13 = 78  Counting back
5. 84 – 65 = 19  Counting up
6. 30 – 17 = 13  Counting up 
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Check your understanding
Answers

Answer may vary according to children’s preferences.
Explain which method you would choose to do each of these subtractions:
85-11=74 Count back 10, then 1.
53-48=5 Count up from 48 to 50 to 53 using Frog as the numbers
are very close.
47-24=23 Count back two 10s then 4.
63-47 =16 Count up from 47 using Frog (2 or 3 hops).
74-64 =10 Recognise the difference as 10; check on a 1-100 grid.




